00052

@ @ O0an SSB8emaEn

@efesltt Moy ddepi® (ccml) e@EP - @daR 01
gomen elduegnn 2009/2010

8o ofiow - MPZ1310-116» gcis oo

mEe - & 03 G

Emea - 2010.03.01 eBE® - e=dddt 09.30 - ©8.12.30 cit

A ) Bemdd ecems puen (03) s smidens @i 6 w0 avwms Bgnot oones.
‘Non programmable @#n &y @8n) bg . ®In OSE OEm) 6::@@ gcjmau
=P G500 gh ecm em@Eed.

A emide
| DOEE0 CEP emofs mEn 03(nnnd) cowes BEact amese.

oL (a) A @ B eoieg ecms gmo go 60 km 6 A B0 B (3:12)] 080y cdwecss
. OEX®® Q@&&Oﬁ A BO B ew®n Smme  eBoeme @@5898855 @0 e 01 o
meos ©f. B-A Q&ﬁf)) epes@ O @P=0 eROPED oo (1% b DERE .
é,mes:@b‘ Someme edon ewd Seei@00 x @ 2i0ed &Smmo edown ©IEd
HeE@00 v ego concomn moEs) x & y azmgﬁi oo 6Bnot egmid @R meﬁes)
B onsd o eRidfed 8m emmeim,

() mag@aﬁfsm@cau =@ E@0 oM 10cm ag&nca o8 Obmdems 3000 cm’ @B
| madeniinged £ o 86E emmesen.

(b). P ghen e @Pners sHD m@mé@bé Ecnqéﬁen.
4x> — Bx—1=0
02 (a) ©o° e¥nosmn x orm Dogdm.
(i) 25% = 15625 (ii) 2*5=5%
(i) @@, (Zx+3)=2 (i) 3% =9=
189 224

(b), 2@@ T Prri TGt} -g% & oo ceRddm 4 B0 emXnsle.

(c) y¥3= E-E oBmoned v & guoo @@ waa. @8 a=0.649 @ .
ab

b=0.022 (2=t ey oo emmosis.)



03.

04.

05.

00052

(a) % (3r+2) edgficd cedunzn emreain.

(c)

| (a)

(b)

Y=

]

- (b) eEdieen r &8 oo (2r-3) 8.

(1) egdied ogf = nom oD,

(i) o0 odfc oOEne edficd Q0 cosd) 68 eomEg goBOw
emxoeien.

(iii) egHed el = 21 & NI eDMOS®.

Semitnon gosslnd enidide cebmnxn oagjenidn ecmi 0 MM Lo

PQR @i@'mécs‘P'Q @ A X en B gomzne, PR 8 Y euesee 5680 glded
XY //QR & AY //BR 8emedn. PX: XQ=PA AB ' @0 ®dg wose.

- ABCD E‘)ﬁgO@éd AC e BD Sb@a e ) @@é)&) mé@d@m @8,

©

(a)

(b)

ABCD oatan oden) obgogres srmeas ehBfons Do 2D oDsm
OeSe. '

ABCD e&sndged Swbén E 55& edemr 68, E &dam e XY <L

AD e X &8 BC @@ Y &E,rss ea@@@ XE=EY e DX= BY a8°
QREG o, '

- ABCDE esoa)@@cs ED/BC = ED=BC e8. P,QR o0& 8gedgs AEAB

()

(i)

@ CD okbe oz @oes 0. QD 8@&s PR obfeddemn cmeta ab
ecmbalen. :

ABC Gewmigted P ma BC 8 225 gomsn 8. AP & 0ds goeso Q .

ABQ Gewmigned Sbwden

\
APC @mi@m@d abedan 2
ABQ Gemigned Oboden I
ABC @iméci DbedaEn 4

89 Bsa wos.



00052

B - emde

B0 6080 emoBs pda 03(nond) obind S8gadt canss.

 06.

07.

08.

(a) Smerdas SN @ 6N § @g ecwms () 90° . (i) 60° enivdRs mowd

Homomdd geds ofpnun Aeed mENDn &) EE someaies.

(b) ABCD e80ncged AB,ACey AD o 8desd 58085 2, 4V2 @ 5 @@ A

@eresecde, §or 0.

efogsy Oced SmeEpdon &) &,cmé) emceen.

dnsio 750kg e@i0b Oacaﬁe.ﬁ godde 250kg 8 mobimen 508 aRe® qeived
268 ooRsD oo Sed. e0IOL Oded OFEEPE oisexe 1000N o Dent e
®B. OPwxd cEbs gfedid 8@@&)@55 @@l OOwD 400N o = edBemed
200N o @8.

(i) wdme o e@lob Oded HO0Hn emIrs.

(ii) oed cfled oo eomai.

(iii) oded 60 WD ags e88m ca@esi -g €0 @) g@c‘)@cs @@8@:.3 scelien.

DEe0 60 wO en 6558@955 mzaccbn e amd wo@E. E)@mcaa B @6edid®
emedesd «abi. :

(iv) @®iob oded PHcmm eImEe.

V) DOl Dn BEgEPD eeo @55@61@ ooed 80 Ry mos O @ cond®

MIEG emdaie.

(a) edieg enige 30° B = 196 ms' gelonds fads SPedsan woy
@ze_a. g=938 ms

()  aud aenm Eifo® o
(i) Goxed Smed MmEe & puedodl grene ®om S0l edmn

(iii) grezgofn grened &8O 130m cRel Bo 86088 guyed pedon &

05 E@D emmaio.

(b) gopdes 85080 10 ms'cBoens mHcdoss etyenB. griedomens
DESOND ogd ired sednn &) OFY EMD emi@elen.



09.

10.

00052

eBBes SEDgmPens @8 gom Smiemc BS0ognenes 8y 20 o OsE 0o
gono Smemo edwensl e By 30 & I @0, HEDEBPND «=B&He

eem SoEnod dcmo Bo.

e, c805ed DEon e otk mp SO gEedn.

c88m @@ wg €0 67.5 km.

@

(i)

(iii)

(@)

(i)
(ii)
(iii)
(b)
(D)
(i)

£93ed Bdw® edwmn kmh! Som DRs smxseie.
c88ed Boctie & Ohemn kmh? S OGS emweie.
SoEnt edoens ¢80n wos g O emeim. *

ABCDFF 080 oo,

AB=bh AC=c

BC cecBmn emosen.

CD,DE,EF e FA eec@Go b & ¢ ecops emomelen.

E,:ﬁ,ﬁ,ﬁ,fmﬁ cee@m b =) ¢ @cDEd eomomsies.

AR = 4i -3’ AC=3i+4j

‘AB ey AC @cn]caeﬁa)._

BC eecGmm emw BC  emimein.

- 58p8 g80K. -

Polemed S@Esdn HD0ged Smprdn e®sl




THE OPEN UNIVERSITY OF SRT LANK A |
'DIPLOMA.IN TECHNOLOGY (FOUNDATION PROGRAMMY )

FINAL EXAMINATION - 20092010 | |
- MPZ 1310~ BASIC MATHEMATICS . g
DURATION- THREE (03) goyg | N
DATE : 01" March 2019 TIME: 9.30 a.m. - 12.39 pm.. .

Answer six (06) questions only by selecting three 03) questions) Each from Section

A and B, You can use calculators,

Section A — please answer three questions only,

0I.  a)  The distance betwee_:n tWo parts A and B is 60 k, There is a current with

journey it took ] “ hours. Assume that the constant speed of the current jg
x kmper houyr (x kmh™) ang the constant speed of the boat Y kmper -hour
(y kmh™). Obtain two equations in terms of X and y. Find the speeds of
the current and the boat respectively. , LT

b) The breadth of a rectangle is 10cm Jegs than the length, | Its. érea is

¢} Solve the following equation by the method of completing squéré. B
4x%-8x-1 =g,
02. @) Solve these equations for x . T
L 25"=15625 S 2o
. logy(2x+3) =2 Ly, 3o gx
b) Find the valye of the following to four decimal places. < -
189 224 81
2Log— —[gg 55 _ Log—
s SETTRR o

~b
c) Calculate the valye of Yy from the formula y% =£-b—where a = (.649,
. . . ab i -

b=0.022. (Without using the calculator)




03.

04.

05.

b)

b)

b)

' 9
Find the sum of the series Z(?ar +2)

r=|

"The 1" term of a series is (2r— 3 )

i. - Find the first three terms of the series.

ii. Show that this series is an arithmetic series and find the common
_difference of the series.

ifi. Calculate the sum of first 21 terms.

Prove that the sum of the three interior angles of a triangle i_s equal to .two
right angles.

PQR is a tnangle the points A X and B are on PQ and the pomt Y is on

PR such that XY//QR and AY//BR.
Prove that PX : XQ=PA: AB

ABCD is a quadrilateral and the dlagonals AC and BD blsect each other
and are perpendicular. -
Prove that ABCD.is either a square or a rhombus

ABCD is a parallelogram and the diagonals intersect at E A lme XY ‘

through E intersect AD at X and BC at Y. Prove that XE. EY and
DX =BY. .

ABCDE 1s. a pentagon which Ej)//BC and ED = BC. P,Q; R are th'é:mld .

points of AE, AB and CD respectively. Prove that QD blsects PR. L

ABC is a triangle and P is the mid point of BC. Q is the m1d pomt of AP
Prove that. .
- Area of thetriangle ABQ

1
Areaof thetriangle APC T2

i

Areaof thetriangle ABQ _ 1
Areaof thetriangle ABC 4

and il .
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06.

07.

08.

Section B — please answer three questions only,

a) Find the magnitude and direction of the resultant of two forces of
magmtude 8N and 6N when the angle betweeu them are. :
i, 90° ii. 60°

b} ABCD is a square, and force of 2N, 442N and 5N act at A in the

directions AB, AC and AD respectively.  Find the magnitude and
direction of their resultant.

A car of mass 750kg is towing a caravan of mass 250kg along a horizontal
straight bar. The driving force produced by the engine of the car is 1000N. The
resistances to motion acting on the car and caravan are 400N and 200N

. respectively.
Determine _
i The acceleration of the car and caravan.
ii. The tension in the tow bar

ifi. Find the velocity and the travel dlstauce after 605

It is given that after 60s, the driving force produced by the engine is stopped
(zero) and assuming that the resistances stay constant as before
iv.  Find the retardation of the car.
v.  Find the distance travelled under retardation and time before it
comes to rest?

(a) A partlcle is prcuected with a velocity of 196ms , at an elevation of 30°
assuming g=9. 8ms Find, :

i The greatest height attalned
-ii.-  The time of flight and the range on a horizontal plane through the
point of projection.
fii. The velocity and direction of motion at a height of 130m.

(b) A stone is thrown horizontally with speed 10ms™, By modeling stone as a
particle find the magnitude and the direction of the stone’s velocity 1
second later (g=10ms™)
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09. A train starts from rest and moves with uniform acceleration for 20 minutes. It
then maintains a constant speed for 30 minutes before being brought to rest by a
uniform retardation of magnitude twice that of the acceleration. Sketch the speed
time graph of the motion of the train. If the train travels a distance of 67.5 km.

1.
ii.

1ii.

10. a)

Find the maximum speed of the train in the units kmh™.
Find the acceleration and retardation of the train in the units kmh2.
Find the distance travelled in the uniform speed.

ABCDEF is a regular hexagon.

AB=b AC=c

1.

il,

iii.

Find the vector BC

Find the vectors determined by
and c. :

——— o —— ——

Find 4D, AE, AF,CE,CF vectors in terms of b and e,

—_—

CD,BE,EF and FA in terms of b

AB=4i-3j AC =3i+4i

i

.

Calculate 4B AC

- Find the vector J_BE‘ and BC -

- Copyrights reserved -
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